General Info					
Number:	PROJECT NO. 59-19-02				
Description:	REPAIRS AND RESURFACING				
	EASTBOUND AND WESTBOUND ROADWAYS				
	MILEPOST 205.20 TO MILEPOST 218.50				
	PORTAGE AND TRUMBULL COUNTIES				
Deadline:	MAY 3, 2019 AT 2:00 P.M. (EASTERN)				
(Estimated Cost: \$6,600,000.00)					
Bids					
Business		Bid Total			
The Shelly Company - Northeast Division			\$6,739,072.00		
Shelly & Sands, Inc.			\$7,562,240.60		

THE SHELLY COMPANY - NORTHEAST

PROJECT NO. 59-19-02 (Ref. Nos. 1-36)						
Ref. No.		Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP	\$25,000.00	\$25,000.00
2	SP 202B	CRACK REPAIR, 1" OR LESS, USING SAND ASPHALT	20.00	CU.YD.	\$250.00	\$5,000.00
3	SP 202B	CRACK REPAIR, 1" OR LESS, USING HOT JOINT SEALER	2,000.00	GALLON	\$18.50	\$37,000.00
4	SP 202B	CRACK REPAIR, WIDER THAN 1" AND LESS THAN 1" IN DEPTH, USING ITEM SP 404 (PG 64-22)	20.00	CU.YD.	\$250.00	\$5,000.00
5	SP 202B	CRACK REPAIR, WIDER THAN 1" AND GREATER THAN 1" IN DEPTH, USING SP 402 (PG 64-22)	20.00	CU.YD.	\$250.00	\$5,000.00
6	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=2")	218,280.00	SQ.YD.	\$1.00	\$218,280.00
7	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=3 1/2")	148,700.00	SQ.YD.	\$1.15	\$171,005.00
8	254	PAVEMENT PLANING, PORTLAND CEMENT CONCRETE, AS PER PLAN	610.00	SQ.YD.	\$15.00	\$9,150.00
9	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED STONE, PG 64-22	12,121.00	CU.YD.	\$162.00	\$1,963,602.00
10	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG 64-22	290.00	CU.YD.	\$165.00	\$47,850.00
11	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG PG 76-22 (FR)	8,300.00	CU.YD.	\$150.00	\$1,245,000.00
12	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG 76-22(FR)	6,200.00	CU.YD.	\$205.00	\$1,271,000.00
13	SP 404A	JOINT SEALER	108,000.00	FOOT	\$0.65	\$70,200.00
14	407	NON-TRACKING TACK COAT	46,450.00	GALLON	\$2.50	\$116,125.00
15	519	PATCHING OF CONCRETE STRUCTURES, AS PER PLAN	72.00	SQ.FT.	\$150.00	\$10,800.00

16	SP 536	CONCRETE WEATHERPROOFING, DECK,	17,898.00	SQ.YD.	\$10.00	\$178,980.00
17	SP 611	ABUTMENT SLABS AND APPROACH SLABS CATCH BASIN, RECONSTRUCTED TO GRADE,	20.00	EACH	\$1,800.00	\$36,000.00
		LESS THAN 4", AS PER PLAN	20.00	Entern	ψ1,000.00	φου,σου.σο
18	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, 4" -	18.00	EACH	\$2,000.00	\$36,000.00
		12", AS PER PLAN			* ~ ~~~ ~~	*
19	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, GREATER THAN 12", AS PER PLAN	2.00	EACH	\$2,200.00	\$4,400.00
20	SP 611	CATCH BASIN, GRATE AND CASTING, AS PER	5.00	EACH	\$1,500.00	\$7,500.00
		PLAN	0.00		<i>↓ .,0 0 0 0 0</i>	<i>.</i> ,
21	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$661,425.00	\$661,425.00
22	SP 614	ZONE PERSON	2,232.00	HOURS	\$70.00	\$156,240.00
23	619	FIELD OFFICE, AS PER PLAN	1.00	LUMP	\$30,000.00	\$30,000.00
24	621	RAISED PAVEMENT MARKERS REMOVED	1,600.00	EACH	\$4.00	\$6,400.00
25	SP 621	RAISED PAVEMENT MARKERS	1,600.00	EACH	\$23.15	\$37,040.00
26	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$30,000.00	\$30,000.00
27	624	MOBILIZATION	1.00	LUMP	\$200,000.00	\$200,000.00
28	SP 626	BARRIER REFLECTOR, TYPE B (YELLOW)	1,404.00	EACH	\$8.00	\$11,232.00
29	642	6" WHITE LANE LINE, TYPE 1	52.20	MILE	\$335.00	\$17,487.00
30	642	6" WHITE EDGE LINE, TYPE 1	28.60	MILE	\$455.00	\$13,013.00
31	642	6" YELLOW EDGE LINE, TYPE 1	28.60	MILE	\$455.00	\$13,013.00
32	642	12" WHITE CHANNELIZING LINE, TYPE 1	4,000.00	FOOT	\$0.75	\$3,000.00
33	642	WHITE DOTTED LINE, 6" WHITE, TYPE 1	4,000.00	FOOT	\$0.70	\$2,800.00
34	SPECIAL	SONIC NAP ALERT PATTERN (SNAP)	17.00	MILE	\$750.00	\$12,750.00
35	SPECIAL	AIR SPEED ZONE MARKINGS, AS PER PLAN	30.00	EACH	\$50.00	\$1,500.00
36	SPECIAL	ASPHALT REJUVENATOR, POLYMER EMULSION	35,680.00	SQ.YD.	\$2.25	\$80,280.00

Total:

\$6,739,072.00

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT

TEMPORARY ACCESS DEDUCT ALTERNATE >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submittal:*:NO Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):: \$0.00

SHELLY & SANDS, INC.

PROJECT NO. 59-19-02 (Ref. Nos. 1-36)						
Ref. No.		Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP	\$40,000.00	\$40,000.00
2	SP 202B	CRACK REPAIR, 1" OR LESS, USING SAND ASPHALT	20.00	CU.YD.	\$1,500.00	\$30,000.00
3	SP 202B	CRACK REPAIR, 1" OR LESS, USING HOT JOINT SEALER	2,000.00	GALLON	\$25.00	\$50,000.00
4	SP 202B	CRACK REPAIR, WIDER THAN 1" AND LESS THAN 1" IN DEPTH, USING ITEM SP 404 (PG 64-22)	20.00	CU.YD.	\$2,225.00	\$44,500.00
5	SP 202B	CRACK REPAIR, WIDER THAN 1" AND GREATER THAN 1" IN DEPTH, USING SP 402 (PG 64-22)	20.00	CU.YD.	\$2,225.00	\$44,500.00
6	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=2")	218,280.00	SQ.YD.	\$1.90	\$414,732.00
7	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=3 1/2")	148,700.00	SQ.YD.	\$3.05	\$453,535.00
8	254	PAVEMENT PLANING, PORTLAND CEMENT CONCRETE, AS PER PLAN	610.00	SQ.YD.	\$20.00	\$12,200.00
9	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED STONE, PG 64-22	12,121.00	CU.YD.	\$180.00	\$2,181,780.00
10	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG 64-22	290.00	CU.YD.	\$284.00	\$82,360.00
11	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG PG 76-22 (FR)	8,300.00	CU.YD.	\$149.00	\$1,236,700.00
12	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG 76-22(FR)	6,200.00	CU.YD.	\$210.00	\$1,302,000.00
13	SP 404A	JOINT SEALER	108,000.00	FOOT	\$0.20	\$21,600.00
14	407	NON-TRACKING TACK COAT	46,450.00	GALLON	\$3.00	· ·
15	519	PATCHING OF CONCRETE STRUCTURES, AS PER PLAN	72.00	SQ.FT.	\$150.00	\$10,800.00

16	SP 536	CONCRETE WEATHERPROOFING, DECK,	17,898.00	SQ.YD.	\$10.00	\$178,980.00
17	SP 611	ABUTMENT SLABS AND APPROACH SLABS CATCH BASIN, RECONSTRUCTED TO GRADE,	20.00	EACH	\$1,800.00	\$36,000.00
		LESS THAN 4", AS PER PLAN	20.00	LAGIT	φ1,000.00	φου,σου.σο
18	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, 4" -	18.00	EACH	\$2,000.00	\$36,000.00
		12", AS PER PLAN				
19	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE,	2.00	EACH	\$2,200.00	\$4,400.00
20	SP 611	GREATER THAN 12", AS PER PLAN CATCH BASIN, GRATE AND CASTING, AS PER	5.00	EACH	\$1,500.00	¢7 500 00
20	35 011	PLAN	5.00	EACH	φ1,500.00	\$7,500.00
21	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$482,600.00	\$482,600.00
22	SP 614	ZONE PERSON	2,232.00	HOURS	\$85.55	\$190,947.60
23	619	FIELD OFFICE, AS PER PLAN	1.00	LUMP	\$30,000.00	\$30,000.00
24	621	RAISED PAVEMENT MARKERS REMOVED	1,600.00	EACH	\$6.00	\$9,600.00
25	SP 621	RAISED PAVEMENT MARKERS	1,600.00	EACH	\$26.55	\$42,480.00
26	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$20,000.00	\$20,000.00
27	624	MOBILIZATION	1.00	LUMP	\$300,000.00	\$300,000.00
28	SP 626	BARRIER REFLECTOR, TYPE B (YELLOW)	1,404.00	EACH	\$8.25	\$11,583.00
29	642	6" WHITE LANE LINE, TYPE 1	52.20	MILE	\$335.00	\$17,487.00
30	642	6" WHITE EDGE LINE, TYPE 1	28.60	MILE	\$455.00	\$13,013.00
31	642	6" YELLOW EDGE LINE, TYPE 1	28.60	MILE	\$455.00	\$13,013.00
32	642	12" WHITE CHANNELIZING LINE, TYPE 1	4,000.00	FOOT	\$0.75	\$3,000.00
33	642	WHITE DOTTED LINE, 6" WHITE, TYPE 1	4,000.00	FOOT	\$0.70	\$2,800.00
34	SPECIAL	SONIC NAP ALERT PATTERN (SNAP)	17.00	MILE	\$1,000.00	\$17,000.00
35	SPECIAL	AIR SPEED ZONE MARKINGS, AS PER PLAN	30.00	EACH	\$50.00	\$1,500.00
36	SPECIAL	ASPHALT REJUVENATOR, POLYMER EMULSION	35,680.00	SQ.YD.	\$2.25	\$80,280.00

Total:

\$7,562,240.60

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT

TEMPORARY ACCESS DEDUCT ALTERNATE >> A Temporary Access Deduct Alternate Proposal is included in the Bid Submittal:*:NO Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number):: \$0.00